
Answers – VOLUME 2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 5, Shear Forces and Shear Stresses Due to Bending problem 5.034, page 394 
 
Remarks: See example 2, pages 335 till 338 
 
Answer:  
 
b.  2

max 30 N/mmτ =

 
Explanation:  
 
Location of the normal centre: 
On the symmetric axis, 
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50 2  left from the corner.  mm
 
Work in y-z-co-ordinates with the y-axis along the symmetric axis. 
 
Cross-sectional properties: 

6 48 10  mmyyI = ×   and a 3 360 2 10  mmyS = ×  

 
The shear stress is maximum in the steel sections lying of the 
vertical lines going through the normal-centre 
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